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Agenda

* Problem 1, Assignment 3 Discussion
e Tutorial Problem 1: Stop-and-wait ARQ
e Tutorial Problem 2: Alternating-bit Protocol

e Tutorial Problem 3: Transport Protocol Design
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of-order packets



Tut 6;: P3 Notes

* A 2 B (request) lossy
B> A (data response) lossless
e Delay: unknown & variable

* As long as B gets the request, A will receive the
corresponding data response eventually.

e We don’t know if feedback mechanism works...



Tut 6: P3 Solution

* A has to blindly resend the request if the reply is
not received.

* Duplicated requests might be generated.

* B might receive duplicated requests, then A might
receive duplicated data.

* We need a sequence number (1 bit).
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